

Add the following.

① $6\frac{2}{3} + 2\frac{3}{4}$ ② $4\frac{1}{4} + 3\frac{7}{8}$

① $6\frac{2}{3} \times 4 + 2\frac{3}{4} \times 3$ $\begin{array}{r} 3 \\ 6 \\ 9 \\ 12 \end{array}$ $\begin{array}{r} 4 \\ 8 \\ 12 \\ 16 \end{array}$

$6+2=8$
→ $= 8\frac{8}{12} + \frac{9}{12}$

$8+1=9$
→ $= 9\frac{5}{12}$

$12 \overline{)17} \frac{1}{12}^5$

② $4\frac{1}{4} \times 2 + 3\frac{7}{8}$ $\begin{array}{r} 4 \\ 8 \\ 8 \\ 16 \end{array}$

$4+3=7$
→ $= 7\frac{2}{8} + \frac{7}{8}$

$7+1=8$
→ $= 8\frac{1}{8}$

$8 \overline{)9} \frac{1}{8}$